(M8 o HEENA]4H1 %2
1. ROAERTZRD X,

1
2C0SX+3sinx+2

(1) |=j

(2) |=j 1

COSX+2sinx+3

[FERE R %L & Ay B %X
2. ROEMI OEZ KD X,

(1) 1 :Ifz(x5—2x3+3x2+5x+1)dx

X2 +1

@) 1=][ XX ox

(5) _[Ozsin3xdx

(6) .[% L ax

0 cos’® X

3 1
™ | O

(€)) '[Oﬁ 1 x

NUE'S



[ZAREBoHIR]4HT %
1. ROFERS %KD X,

(1) |=j L

2C0SX+3sinx+2

cosX=—,sinx=——, dx= du X9
+ 1+u 1+u
I:J' — 1 5 122du
0. 17U 3. M ot
1+u 1+u

- 2
2-(1—u2)+3~2u+2(1+u2)

4+6u=2(3u+2)

du

= ! du=lj 3 du=llog|3u+2|+c
3u+2 37 3u+2 3

=llog 3tan>+2/+C
3 2

(2) |=j L

— X u=tan> LB &,
COSX+2sinx+3 2

du kv
1+u

2
e

20t +au+4=2(u? +2u+2) -2 (u+1)" 41

:I ﬁdu =Tan"(u+1)+C
u+1)”+

= Tanl(tang+lj +C

[E 57 fHER %L & Ay B4
2. ROE/HOEZ KD X,

(25 _9y3 2
(1) I_I_Z(x 2x% +3x +5x+1)dx
X2 —2x° +5x 1L &R L v
fz(xs—2x3+3x2+5x)dx=0

Fo A +LIMEREEIZ S

I =2[ (3x* +1)dx=2[ x* +x]’ =2(8+2)=20

dx u=tan§tk’< L.

XCOSX+1 1 XCOS X 11
@ I_I[ x?+1 jX: 1 x% 41 dx+LX2+1dx

XCOS X XCOS X

r AR [ 22 R de=0 kY

ot 1 Y 1 _ 1t
I_J'71X2+1dx_2 . er1dx_Z[Tan x]o

EEEE=a

= 2(Tan’1l—0) = Z(E—Oj -
4 2

[E R FEA]
3. ROEMD DEZ KD X,

(1) '[_lzxz dx=%[x3]i2 =%{13 —(—2)3} =§=3

7

(2) L:T\/%dx:ﬂ(xﬂ)sldx:g{(xﬂ);}
3oz 2) 3]/ 2| 3.2 9
:5{83 —13]=§{(2 -1 }:E(z —1):E

(3) J—dx [Iog|x+]ﬂ (Iogz Iogl] log 2

1 2x4 3 1

Sle 2—5( j e -1)

1 3z
5 sm3xdx-— C0S3X cos— —cos0
5) [¢ [cos3x] = 3( : j

1

(4) j:'e“*“ dx =

O.M§

—1( 2 1}1_\E+2_\/§+2

3l 2 )3 2 6

0




